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Solved Examples And Exercises

1. Statement 1: For -1

° Watch Video Solution

2 _
2. If /w—x—:le“’dw = e’ f(z) + ¢, then f(x) is an even

function f(z) is a bounded function the range of f(x) is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1Y6yPkpT5QBu
https://dl.doubtnut.com/l/_ZFv2zWz7pXDv

(0,1) f(x) has two points of extrema

° Watch Video Solution

3. Evaluate: for m € N,

fn?’m + 22+ mm) (2:1:2m + 3z™ + 6)Eda:, z >0

° Watch Video Solution

(1 — zsinz)dx
4, Evaluate:/
w(]_ _ m3e3cosac)

° Watch Video Solution

5. '1=int(dx)/((2a x-x"2)

° Watch Video Solution



https://dl.doubtnut.com/l/_ZFv2zWz7pXDv
https://dl.doubtnut.com/l/_huHG7h8VODQs
https://dl.doubtnut.com/l/_V5yH7ShRJWNm
https://dl.doubtnut.com/l/_4gNYBaQq3q2d

1++/2

2

6.1f f'(z) = and f(0) = then f(1)

1
—z + V2 +1

is equal to- (a) log (\/Q + 1) (b) 1(c)1 + /2 (d) none of these

° Watch Video Solution

1
7. The value of the integral /(mz + w) (:B_S + 2:13_9) Vdx is

5 ! 5 u 6 u
ﬁ(:c2 +2z) ™ + c(b) E(:;c+1:c)w +c7(w+1)10 + ¢ (d)

none of these

° Watch Video Solution

8.1f I’ (z) means logloglogz, the log being repeated r times,

then /[wl(:c)lz(:c)l?’(a:)l'(x)] “Lis is equal to I'\(z) + C

lr+1($)

(b) r—+1

+ C1'(z) + C (d) none of these


https://dl.doubtnut.com/l/_4gNYBaQq3q2d
https://dl.doubtnut.com/l/_nl7hOL5sFv1W
https://dl.doubtnut.com/l/_dTYpizolp0hM
https://dl.doubtnut.com/l/_pR9Z8PTJT7Ih

° Watch Video Solution

. / 2sinz

(3 + sin2z)dzisequa < o
lln 2+ sinx — coszx B 1 taJnl<sin:1:—|—cosa:> ny
2 |2—sinz 4 cosz V2 V2

11 2+ sinx — coszx 1 tan ! sinx + cOsx n
. 2 —sinz + coszx 2/2 an V2 ¢
1 2+ sinxz —cosx 1 1<sin:c+c03m)

tan +c

V2

4 2—sinx + coszx ﬁ

noneo fthese

° Watch Video Solution

z —1)e”
10. Evaluate: —3da:
(x +1)

° Watch Video Solution



https://dl.doubtnut.com/l/_pR9Z8PTJT7Ih
https://dl.doubtnut.com/l/_EDxkXoCHeZks
https://dl.doubtnut.com/l/_cjt05YxUL8VY
https://dl.doubtnut.com/l/_GxVPdgXbm43C

dzx
1. Evaluate/ =
z?(z* + 1)1

° Watch Video Solution

12.
If wlog(l + %)dw = f(z)log(z + 1) + g(z)z* + Az + C,
then (a)f(z) = %wz (b) g(z) = logz ()A = 1 (d) none of

these

° Watch Video Solution

dr
13. IflI = /—, thenlequals a.
x3va? —1
1 2 -1
i N Y/ | G, b.
2 3

1 2 1
§<x—2—|—a}tan_1\/a32—1> +C C.


https://dl.doubtnut.com/l/_GxVPdgXbm43C
https://dl.doubtnut.com/l/_IVvbRDIdSRu2
https://dl.doubtnut.com/l/_K4lDUYxhEY9L

21
(a:T + tan ! m2—1> +C d.

2 _ 1
(x— + tan ! :1:21> +C

12

(NCT IS Y

° Watch Video Solution

14.1f I = /a_mlog(ew + 1)dz, then equal

0 Watch Video Solution

15.
Ifl, , = /cosmac sinnzdzx, then7ly 3 — 4l3 5 is equal to
(a) constant (b) —cos’z + C (c¢) —cos*zcos3z + C (d)

cosTx — cosdx + C

° Watch Video Solution



https://dl.doubtnut.com/l/_K4lDUYxhEY9L
https://dl.doubtnut.com/l/_SC3UlNSimLmi
https://dl.doubtnut.com/l/_kTLd0sn0gvCr

16. Evaluate /(\/ta,n:c + y/cot z)dz.

° Watch Video Solution

B
17.1f [ = /1/ ° dx, then equal
2+«

° Watch Video Solution

1 In(1 + z6)
18. Evaluate: / — + | ———— |d=x
z3 + x4 3 + \/x

° Watch Video Solution

19. Evaluate /(\/ta,n:c + y/cot z)dz.

° Watch Video Solution



https://dl.doubtnut.com/l/_wYb3OZkKBVb1
https://dl.doubtnut.com/l/_f1JEo5KkH3bh
https://dl.doubtnut.com/l/_9Cbe3LZpErx5
https://dl.doubtnut.com/l/_yUhvwUgz5QQ2

20. IfI = / dz , thenlequal
(

3
a? — b?x?)>
T T

+C ()
T — P N

azr
+ C (d) none of these

V@ - Pa?

+C (c)

° Watch Video Solution

21.

z b ~
fv(( Ina + 1;:2%4: )d:c (whe'rea, b e R+)isequa <o

3a57xb39”
1, ., n(a®b%) 1 1 Inl
mb3z k k
6ln a5 ¢ € i 6ln a>b3 a?*b3* ea?rbh3® *
1 1
In a2xb3x + k
6ln a’h3 a’*b3* ( )
1 1

- In(a®*b**) + k
6ln a’b3 a**b** ( )

° Watch Video Solution



https://dl.doubtnut.com/l/_yUhvwUgz5QQ2
https://dl.doubtnut.com/l/_TkzHYtj3txvv
https://dl.doubtnut.com/l/_I5eVZ1C2AIKh
https://dl.doubtnut.com/l/_dcHtbY2YERF7

22, /ew - 4(:1: + 23 + 2:135)6”3 " 2dxzisequal — 1/2x
e"x"2e"x"4+c(b)1/2x"2e"x"4+c1/2e"x"2e"x"4+c(d)

1/2x"2e*x"2e"x 4+c

° Watch Video Solution

23. /\/1 + cos xdx equals

° Watch Video Solution

4
1 1
24, / z dz = \/w2+—2+1+0
22/ + 22 + 1 T
4 2 1 4 2 1
vz +;E + +C Va —|—wx + 4+ C (d) none of these
T

° Watch Video Solution



https://dl.doubtnut.com/l/_dcHtbY2YERF7
https://dl.doubtnut.com/l/_1qGKWDYYDi2T
https://dl.doubtnut.com/l/_GCwBDVQ3yZ2X
https://dl.doubtnut.com/l/_O9r1ieXJCD7N

dx tan 11
25. = 2sec 'y2e"+c¢c —2—— +¢
ety/2e* — 1 Ve —1
2sec_1(\/§ew) +c (d) (2sqrt(2e”x-1))/2e"x

2tan " '4/2e* —1+¢

° Watch Video Solution

26. If /sin:z:d(sec:c) = f(z) — g(z) + ¢, then f(x) = secx

(b) f(z) = tanz g(z) = 2z (d) g(z) = =

° Watch Video Solution

1/2
1 —
27. Evaluate/ \/E . d_a:
1+ 4z x

° Watch Video Solution



https://dl.doubtnut.com/l/_O9r1ieXJCD7N
https://dl.doubtnut.com/l/_g8Sj9caRxLw2
https://dl.doubtnut.com/l/_Y49WukDQrHqG

3+ 2coszx ) 2sinx
28. > drisequa < o a)| ———— | + ¢ (b)
(2 + 3cos z) 3cos + 2

2cosx n ) 2cosx n )
e C e
3sinx + 2 c 3cosx + 2 ¢

2sinx n
S — c
3sinx + 2

o Watch Video Solution

x + 2 -
29. /(a:—|—4) + e*dxisequa < o e(
T+ 2 tee x — 2 +ed)
© z+4 € x+4 e

° Watch Video Solution

)+c (b)

=)

(a:2 + 1) . r—1
30. /—2dwzsequa <o e’ + ¢ (b)
(z + 1) z+1

1
e"’(w il 1) + ce®(x 4+ 1)(x — 1) + c(d) none of these

w_

| ° Watch Video Solution |


https://dl.doubtnut.com/l/_IMrk9tezQGa2
https://dl.doubtnut.com/l/_JB57rUAn6cVS
https://dl.doubtnut.com/l/_pltgoL5z9AlI

31. ﬁc sin z sec® zdzise qualto

A. a) 1/2[sec”2x-tanx ]+c
B. b)1/2[xsec”2x-tanx ]+c
C. c)1/2[xsec”2x+tanx ]+c

D. d)1/2[sec”2x+tanx ]+c

Answer: null

° Watch Video Solution

32. /\/ew — ldxisequa < o
2[\/ew—1—tan_1 e‘”—l}—i—c
ver —1—tan " 1/e® —1+c


https://dl.doubtnut.com/l/_pltgoL5z9AlI
https://dl.doubtnut.com/l/_1f7Y6JjFuSMw
https://dl.doubtnut.com/l/_j84XN73e6Wmv

— 14+ tan '4y/e* —1+c

2[\/65” —1—tan '4/e® — 1} +c

° Watch Video Solution

z—1
(+1) 1 z—1\)\>
33. /\lw dr s equalto()§<ln(x+1)) + C (b)
1 z—1\)?
() ve () o o
z+1
Z(ln(w_1)> +C

o Watch Video Solution

142
34.Let g(x) = /( 208 332 dzandg(0) = 0. then the value

cos  + 2)

of 8g( ) is ____

° Watch Video Solution



https://dl.doubtnut.com/l/_j84XN73e6Wmv
https://dl.doubtnut.com/l/_mI1Cs9W0KrF9
https://dl.doubtnut.com/l/_Av5EerWY5Atl

21+ 1)d
(w—l—)x i.Then

35. Let k(:lj) = / - a,ndk( — 1) —
(23 + 3z + 6)3 2

the value of k( — 2) is

W[~

° Watch Video Solution

2 _ 1 2_1
36. Column | a) / v T dx b) /x—da: )
5173 — 4:E2 + 4117 x(af; — 2)3

/ﬂdm d)/ﬂdm COLUMN Il (which of the

z(z —2)° z(z — 2)°

following functions appear in integration of functions in
1

x — 2)

columnl) p) log|z| q) log|z — 2| r.)( s) x

o Watch Video Solution

37. Let

f(z) = /xsin:c(l L zcoszlnz + sina:)d:candf(%) = %


https://dl.doubtnut.com/l/_y2Kfh1tZAkrr
https://dl.doubtnut.com/l/_nkW6eQ7KhX35
https://dl.doubtnut.com/l/_qKacp2BiGuHm

Then the value of |cos(f())] is

° Watch Video Solution

d
38. Evaluate /—:c = atan_l(btan(£>) + C, then
+ 4cosx 2

° Watch Video Solution

e — 1
39. Column I, Column 1l / 1 drisequa < o , p.
e
1
x—log[l—l—\/l—ezm} +c/ dxisequa < 0, q.
(e2 + e~2)”
-z
log(e* +1) —z—e *+c¢ /1e+ " drisequa <o , .
log(ezm +1) —z +c /;d:cisequa <o 3
V1 — e?® ’ .
SR
———— +¢
2(e2x + 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_qKacp2BiGuHm
https://dl.doubtnut.com/l/_lsFo1KaIHYM1
https://dl.doubtnut.com/l/_ruXh62oAgXcE
https://dl.doubtnut.com/l/_YEfM4BT3sjAS

40. Statement 1: If the primitive of f(z) = wsinmx + 2z — 4
has the value —2f or « = 1, then there are exactly two
values of z for which primitive of f(z) vanishes. Statement 2:

cos mx has period 2.

° Watch Video Solution

41. Statement 1

/{f(w)w’(w) — fl(@)p(x)}
2 f(z)p(z)

—log f(z)dx = %{ S;((::)) } +c Statement 2
/(h(a:))"h’(a:)dm _ % e

o Watch Video Solution



https://dl.doubtnut.com/l/_YEfM4BT3sjAS
https://dl.doubtnut.com/l/_BdTyOG6KJXrb

42. Integrate the functions

D -1
Sin I — COS Xr
v \/:w € [0, 1]

sin”™ !/ + cos1/x

° Watch Video Solution

43. If ﬁ2é_2xdm —e @ (aa:2 + bx + c) + d, then the value

a

of ”

o Watch Video Solution

2
1

44.1f f(x) = /(3:13—+3da:andf(0) = 0, then the value of
x2 —1

2

1(2)

is

° Watch Video Solution



https://dl.doubtnut.com/l/_C53bl4MqdryI
https://dl.doubtnut.com/l/_alMzE6HqshKH
https://dl.doubtnut.com/l/_Qpr6o6SuwOYE
https://dl.doubtnut.com/l/_rGdauhcwJnue

1/2
/ 1— 4z / dx
45, Evaluate - —
1+ vz T

° Watch Video Solution

2 8 5
46. If /1;5(1 +2°)3dz = A(1+2*)° + B(1+2°)% + C,
1 1
then A) = 1 B = ¢ (0)A1/88=1/
1 1
A= — 3 B = g(d)no =+ ofthese
° Watch Video Solution
2
. (1 —cosf)7 .
47. The value of the integral / —dthmis
(14 cosf)7
7 0 T 7 ( cosf g
7 /h il v + C (d) none of these
T \°)"2

| o Wiabk .\t daa ..kt |


https://dl.doubtnut.com/l/_rGdauhcwJnue
https://dl.doubtnut.com/l/_oX8UkRTeNE9z
https://dl.doubtnut.com/l/_qUGVyM16XuIY

\ _vvdtilil VIUCTU JUIULIVII )

x2dz

48. Llet f(x) :/(1—|—:c2)(1‘|‘\/m)

andf(0) = 0.

Then value of f(1) will be 1—71(tang)7—|—0 (b)

P hi|
7 (COS ) 4 + 01—71<s/h2) ' + C (d)none of these

11\ 2 2

° Watch Video Solution

4
49, If y:/ﬁ(l—i—x%) drisequalto a)
6(x+4/11x+6/18x"4/15+7x"4)+c b)8x"3/4 )
6(x"2/3+4/11t"11/6+6/13t"13/6+4/15t"5/2+t"17/17)+c d)none of

these

° Watch Video Solution



https://dl.doubtnut.com/l/_qUGVyM16XuIY
https://dl.doubtnut.com/l/_m7JvXUBHwjSz
https://dl.doubtnut.com/l/_uoVJzRfExtMt
https://dl.doubtnut.com/l/_kbuKA3dxaJ4C

50. If

2 3
/«/1 + sinz f(x)dz = §(1 + sinw)g + ¢, thenf(x)equal

cosx (b) sinz (c) tanx (d) 1

° Watch Video Solution

51. Let / {f(z) — f'(z)}dz = ¢(z)- Then [ezf(w)da: is
o(x) = e xf(x)

A p(x) — e"xf(x)

B.1/2 p(x) + e”xf(x)

C.1/2 p(z) + e™xf '(x)

D. null

Answer: null

° Watch Video Solution



https://dl.doubtnut.com/l/_kbuKA3dxaJ4C
https://dl.doubtnut.com/l/_fHzIwcr0cinF

sin(2x) .
52. / drisequal —

sin + cost z

° Watch Video Solution

53, Sec T dx

\/2sm (z+ A) cosar;'

° Watch Video Solution

249
54.Eva|uate:/( ="+ 20 dx

: 2
zsinz + 5cos )

° Watch Video Solution

55./ 2 .dzx
(2 + 3z + 3)(vz + 1)


https://dl.doubtnut.com/l/_fHzIwcr0cinF
https://dl.doubtnut.com/l/_9FZJlm7BFy0z
https://dl.doubtnut.com/l/_95DEs2Ot1J4c
https://dl.doubtnut.com/l/_K7Kkn2tlvquH
https://dl.doubtnut.com/l/_6CRW81Id0UPB

° Watch Video Solution

1
56. Evaluate: / dx

(1—2)Vita

° Watch Video Solution

1
57. Evaluate: /
(z — 3)vz + ldx

° Watch Video Solution

58. Evaluate: /( z+1 dx

z — 1)z + 2

° Watch Video Solution



https://dl.doubtnut.com/l/_6CRW81Id0UPB
https://dl.doubtnut.com/l/_1Mqx759WuRIo
https://dl.doubtnut.com/l/_TIdKsVBHnczy
https://dl.doubtnut.com/l/_xdlwQ4p2ZnDC

59. Evaluate: /sec3 xdx

° Watch Video Solution

z2 —1
60. Evaluate:/ dx
(22 + 1)vVat +1

° Watch Video Solution

1
61. Evaluate:/ —__dx
(z + 1)\/:1:2 -1

° Watch Video Solution

1
62. Evaluate: / dzx

(22 —4)yz +1

° Watch Video Solution



https://dl.doubtnut.com/l/_3LBNhL6QdH7q
https://dl.doubtnut.com/l/_36IKOwr77X30
https://dl.doubtnut.com/l/_7pPvaQByBw5O
https://dl.doubtnut.com/l/_Um9ceoAHhi5S

63. Evaluate / T dx

(22 +4)vVz? +1

° Watch Video Solution

64. Evaluate: / m dx
(z - 1)(a* + )

O Watch Video Solution

2
65. Evaluate: / :13 2+ 1 dx
(z —1)(z + 3)

° Watch Video Solution

66. /sin3 x cos® x dx



https://dl.doubtnut.com/l/_Um9ceoAHhi5S
https://dl.doubtnut.com/l/_KflOOZ5Tod2l
https://dl.doubtnut.com/l/_dlSa9nwmGJxS
https://dl.doubtnut.com/l/_GQ3HwZVg2wC3
https://dl.doubtnut.com/l/_LEmHe9q3U1yr

I ° Watch Video Solution

67.Find /d—ZL’
sinx cos3 x

° Watch Video Solution

° Watch Video Solution

sin® zdx

69. Evaluate: /
(cos*z + 3cos?z + 1)tan~!(secx + cosz)

° Watch Video Solution



https://dl.doubtnut.com/l/_LEmHe9q3U1yr
https://dl.doubtnut.com/l/_oOKIJj3UIFCe
https://dl.doubtnut.com/l/_R7aP1CKeHCSt
https://dl.doubtnut.com/l/_uWWtZiQMUVgS

V% cos eV
NG

70. Evaluate dzx.

° Watch Video Solution

tanx
71. Evaluate:/ dz
a + btan?zx

° Watch Video Solution

1
72. Evaluate: /
1/65.% <4, /62$ + 6—2:53)

° Watch Video Solution

73. Find: /sin5 zdx

l o WAr_ s _L vl e~ _ ..


https://dl.doubtnut.com/l/_EmOyT7frDHOb
https://dl.doubtnut.com/l/_uxEWl8SCHDOL
https://dl.doubtnut.com/l/_jsuJcpjVTcQK
https://dl.doubtnut.com/l/_sZhsbTn9i1AZ

L T Vvvdilil viUCo o0I1ULIvIl

74. Evaluate: /((%)x + (%)w)lnmdx-

° Watch Video Solution

x2 —1

75. Evaluate: / dx
(zt + 322 + 1)tan—1(a: + %)

° Watch Video Solution

z2 +4
76. Evaluate: | ———d=x
x4 + 16

° Watch Video Solution

77. Evaluate: /\/tan Odthn


https://dl.doubtnut.com/l/_sZhsbTn9i1AZ
https://dl.doubtnut.com/l/_sA74YxWAdWe8
https://dl.doubtnut.com/l/_o2LUIP8S8CbW
https://dl.doubtnut.com/l/_OSEpLAv0TCvF
https://dl.doubtnut.com/l/_CQLpVOyKmKGQ

° Watch Video Solution

2
z° + 1
78. Evaluate: /

dx
x4+ 1

° Watch Video Solution

1 1
79. Evaluate /9”” — — — |dz.
r x

° Watch Video Solution

1
80. Evaluate: / dzx

sin*z + costz

° Watch Video Solution



https://dl.doubtnut.com/l/_CQLpVOyKmKGQ
https://dl.doubtnut.com/l/_40GoEdIsSwtb
https://dl.doubtnut.com/l/_8KQH84VwBNSN
https://dl.doubtnut.com/l/_5HBG80Xy2idW

81. Evaluate: ﬁf(w)gw — fPg9(x)]dz

° Watch Video Solution

1
82. Evaluate: / log(logx) + > |de
(log z)

° Watch Video Solution

83. Evaluate: ﬁc3d(tan_ 1 :1:)

° Watch Video Solution

84. Evaluate: /sin2(log z)dzx

° Watch Video Solution



https://dl.doubtnut.com/l/_aOvRET7987Wp
https://dl.doubtnut.com/l/_hmESN5RjRoY4
https://dl.doubtnut.com/l/_T1wOkw0zTEii
https://dl.doubtnut.com/l/_Yxxd3IfLhJ5N

85. Evaluate: /( T log wsm”)dm.
x

° Watch Video Solution

86. Evaluate / dz 7
z2(1+ z°) /5

° Watch Video Solution

1 4
87. Evaluate: / LT dx

(1 a%)?

° Watch Video Solution

dx

3/ . 11
Sln £ COST

88. Evaluate: /



https://dl.doubtnut.com/l/_Yxxd3IfLhJ5N
https://dl.doubtnut.com/l/_OeThZYu3zjKV
https://dl.doubtnut.com/l/_UcfOPDsOEtBt
https://dl.doubtnut.com/l/_7cb7y8DI8ODw
https://dl.doubtnut.com/l/_faf9vvlnSZVY

° Watch Video Solution

sinx
89. Evaluate: |——dx
2 + sin2x

° Watch Video Solution

dz.

og, (a: +Vz2 + 1)
90. Evaluate
vz +1

° Watch Video Solution

Vtanz
91. Evaluate [ ———dzx
sinx cos T

° Watch Video Solution



https://dl.doubtnut.com/l/_faf9vvlnSZVY
https://dl.doubtnut.com/l/_vgoTwTuyRd9d
https://dl.doubtnut.com/l/_FAIGGfZLzRfR
https://dl.doubtnut.com/l/_Pydp5m14gSNt

3)1/3

(z — =
1

92. Evaluate / dzx

T

° Watch Video Solution

1
93. Evaluate: / dzx

(- 1)@ +2)’

N

° Watch Video Solution

3
94. Evaluate: /:r: +1
x2 4+ x

dx

° Watch Video Solution

1
95. Evaluate: Evaluate: fc‘ll(l + :1:4) *dx

[ € Watch video Solution


https://dl.doubtnut.com/l/_gwmMzRrlhL2e
https://dl.doubtnut.com/l/_uiP6xrCc8rS5
https://dl.doubtnut.com/l/_Kop1wyrZeHSv
https://dl.doubtnut.com/l/_j4g7pJFBHN3n

w —
96. Evaluate:

vV L

sin
V1—2z2

dx-

° Watch Video Solution

2z
97. Evaluate: /e 1 dx.
e +1

° Watch Video Solution

sinx

98. Evaluate: / — dz

sin(z — a)

o Watch Video Solution

99. Evaluate /sin(e"”)d(e"”).



https://dl.doubtnut.com/l/_j4g7pJFBHN3n
https://dl.doubtnut.com/l/_rpRSV4fK8DDS
https://dl.doubtnut.com/l/_8GhHmrQeozkR
https://dl.doubtnut.com/l/_ZuSVZzZA256e
https://dl.doubtnut.com/l/_unbyagJhxXof

° Watch Video Solution

100. Evaluate: ﬁ:an?’ rdx

° Watch Video Solution

sin 2x

101. Evaluate : / dx

a2 + b2sin’z

° Watch Video Solution

102. Evaluate: /cos3 x.\/s € dx

° Watch Video Solution



https://dl.doubtnut.com/l/_unbyagJhxXof
https://dl.doubtnut.com/l/_66qdBQPuT4ve
https://dl.doubtnut.com/l/_wVqv31e33p9v
https://dl.doubtnut.com/l/_vEPR779VIcf2

1 1

103. Evaluate:/ dz
xr2 + 3

° Watch Video Solution

104. Evaluate /22230 229 .

° Watch Video Solution

105. EvaIuate/ © dx
e2T + 6e® + 5

° Watch Video Solution

106. The number of irrational roots of the equation

dz/(z* +2+3) +5z /(x> — 5z +3) = —3/2is4b.0c.


https://dl.doubtnut.com/l/_5Vyse3NzRQ1N
https://dl.doubtnut.com/l/_cWgjt6QeM1ka
https://dl.doubtnut.com/l/_uEq6wXll7MvN
https://dl.doubtnut.com/l/_wn97RzoOrUBt

1d.2

° Watch Video Solution

1+x
T

dzx-

107. Evaluate: /

° Watch Video Solution

108. Evaluate: / dz +1
z2 + 3z + 2

° Watch Video Solution

d
109. Evaluate: / v

(a? + z2?)

3
2

° Watch Video Solution



https://dl.doubtnut.com/l/_wn97RzoOrUBt
https://dl.doubtnut.com/l/_x6ecEhSgnlfw
https://dl.doubtnut.com/l/_KBXjycaJi1Ey
https://dl.doubtnut.com/l/_9BwJgR7fPNlr

1
— dzx
x24/1 + 22

110. Evaluate:

° Watch Video Solution

2 xd
1. Evaluate/ Sec rar

\/tanzw—|—4.

° Watch Video Solution

T
112. Evaluate/ —dx
\/ a3 — 23

° Watch Video Solution

2

T
113. Evaluate /—da:
/1 — x6

° Watch Video Solution



https://dl.doubtnut.com/l/_w6sjZzcaqk3i
https://dl.doubtnut.com/l/_JXPpA88cf5Ya
https://dl.doubtnut.com/l/_r3eqGgTFGdOT
https://dl.doubtnut.com/l/_8GPkF1u6GabU

[\/ 14+ 22 + az}
114. Evaluate: dzx

V1+ z2

° Watch Video Solution

dzx
115. Evaluate:
et /<a: Ve e 9

° Watch Video Solution

116. Evaluate: /se(:5 x cos ecczdzx

° Watch Video Solution



https://dl.doubtnut.com/l/_8GPkF1u6GabU
https://dl.doubtnut.com/l/_bUxRdjFne4FB
https://dl.doubtnut.com/l/_Jtdwm4cs1iJj
https://dl.doubtnut.com/l/_P2dtLi5KCQ6n

4 N\i
117. Find /udw

x5

° Watch Video Solution

118. Integrate the functions
1

3
4

z?(z* + 1)

° Watch Video Solution

119. Evaluate /xw In (ex)dx

° Watch Video Solution

1
120. Evaluate: / Tt dx

(z — 1)yz + 2



https://dl.doubtnut.com/l/_XxpsG1RgM9Oe
https://dl.doubtnut.com/l/_Hy8cBUMcQRnP
https://dl.doubtnut.com/l/_0nTlM3G9hUVK
https://dl.doubtnut.com/l/_KzRX6BpBY5GY

° Watch Video Solution

121. Evaluate / xdfc
1+ sinx

° Watch Video Solution

. 6
122. Find /Sm  dz.
cos® x

o Watch Video Solution

123. Evaluate /sin 2zd(tanz).

o Watch Video Solution



https://dl.doubtnut.com/l/_KzRX6BpBY5GY
https://dl.doubtnut.com/l/_rW1HNi1sckDH
https://dl.doubtnut.com/l/_iMf07nWwWgc0
https://dl.doubtnut.com/l/_AMKhRJvc5PZk

1
124. Evaluate: / dzx

3sinx + coszx

° Watch Video Solution

1
125. Evaluate: d
v /sin(ac — a)sin(z — b) v

° Watch Video Solution

126. Evaluate /(1 + 2z + 32> +42° + ...)dz, (0 < |z] < 1)

° Watch Video Solution

dz
127. Evaluate [——
r+ xlogzx

° Watch Video Solution



https://dl.doubtnut.com/l/_FCxnbqKJkfzK
https://dl.doubtnut.com/l/_upkXFXp8irHv
https://dl.doubtnut.com/l/_Z9tGJ5BGGV9C
https://dl.doubtnut.com/l/_MFHQYW79ZLWr

128. Evaluate /secp T tanzdzx.

° Watch Video Solution

129. Evaluate: /:os ectzdr

° Watch Video Solution

cosx — sinx
130. Evaluate -
COsS T + sinx

(2 + 2sin2z)dx

° Watch Video Solution

3z 5z
e e

131. Evaluate: /—+ dz
et +e 7



https://dl.doubtnut.com/l/_MFHQYW79ZLWr
https://dl.doubtnut.com/l/_9j2AbRMJ3f8G
https://dl.doubtnut.com/l/_Mb61hHAjdqPm
https://dl.doubtnut.com/l/_9DzIlGOyT9jg
https://dl.doubtnut.com/l/_33j65liIX4M0

| § YVOLLIL VIMOGY SV iIvLIvIS

2r — 20
132. Evaluate: / oS 2% — o8 dz
cosx — cos @

° Watch Video Solution

1+ Inz)®
133. Evaluate wa

° Watch Video Solution

134. Evaluate: /sin I COS T cos 2x cos 4x cos 8xdx

0 Watch Video Solution

1
135. Evaluate /—dar;
V1 —e2®


https://dl.doubtnut.com/l/_33j65liIX4M0
https://dl.doubtnut.com/l/_YDoYzUIcIKBY
https://dl.doubtnut.com/l/_R5pEzhoZ2pwC
https://dl.doubtnut.com/l/_muLLxJ4GSD02
https://dl.doubtnut.com/l/_7ZyeTY6iqpeK

° Watch Video Solution

2 3
136. Evaluate Tt dx

Vel 4+ 4z +9

° Watch Video Solution

dzx
137. EvaIuate:/
Ve 4+ v —2

° Watch Video Solution

3
T
dz

138. Evaluate/
r+1

° Watch Video Solution



https://dl.doubtnut.com/l/_7ZyeTY6iqpeK
https://dl.doubtnut.com/l/_McleeFKSP0UT
https://dl.doubtnut.com/l/_CtU8PduGn4yJ
https://dl.doubtnut.com/l/_zg4MJiPrYqBV

139. Evaluate: /B sin 3zdzx-

° Watch Video Solution

140. Evaluate: fv log zdzx-

o Watch Video Solution

141. Evaluate: /sin_ L rde.

° Watch Video Solution

T — sinx
142. Evaluate: /—dw
1 —coszx

° Watch Video Solution



https://dl.doubtnut.com/l/_blayy1cT1zHx
https://dl.doubtnut.com/l/_eQW39n0GE1Sq
https://dl.doubtnut.com/l/_KTVf5ETfRH83
https://dl.doubtnut.com/l/_REessfIPHtp3

143. Evaluate: /\/:1:2 + 2z + bdx

° Watch Video Solution

144, Evaluate: /\/1 + 3z — zdx

° Watch Video Solution

vtanz
—dx

145. Evaluate -
sin x cos T

° Watch Video Solution

cotx
dzx

146. Evaluate: /
sinx

| ° Watch Video Solution


https://dl.doubtnut.com/l/_REessfIPHtp3
https://dl.doubtnut.com/l/_hGhAM4KMvlNF
https://dl.doubtnut.com/l/_INYNchEyZNA8
https://dl.doubtnut.com/l/_j9P2H5qqORjp
https://dl.doubtnut.com/l/_1ys3Mn9zBwDR

1
147. Evaluate /( T )(:1: + logz)’dx

x

° Watch Video Solution

148. Evaluate /ca,n4 zdx.

° Watch Video Solution

149. Evaluate: /(tanx — z)tan? zdz

° Watch Video Solution

sinx

log(tan%>
150. Evaluate /—dw.


https://dl.doubtnut.com/l/_1ys3Mn9zBwDR
https://dl.doubtnut.com/l/_8LIsK4JRXIXA
https://dl.doubtnut.com/l/_NSxEO6UPTsBD
https://dl.doubtnut.com/l/_ePDQ24KOlN0L
https://dl.doubtnut.com/l/_iWd8BULDK1nu

° Watch Video Solution

\/2 + logx
151. Evaluate:/ . dx

° Watch Video Solution

logz
152. Evaluate / 5 dx.
(14 logz)

° Watch Video Solution

153. ﬁsin(logw) + cos(log z)|dz

° Watch Video Solution



https://dl.doubtnut.com/l/_iWd8BULDK1nu
https://dl.doubtnut.com/l/_OyUZLoChKb5A
https://dl.doubtnut.com/l/_YsWyci9WLCJF
https://dl.doubtnut.com/l/_6GZfI1cl8Jf0

1 —sinx
154. Evaluate: /e"” (—)dw
1—coszx

° Watch Video Solution

155. Evaluate /f(zc) is polynomaial function of then the

degree, prove that

/ewf(x)dx = E[f(@)f (@) - FT = f A+ (= )" f(2)]
dn f
dz"

where f"(z)dz +

° Watch Video Solution

156. Evaluate: /ew (f(z) + f'(z))de = " f(z) + C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZoMjpLBDNAjn
https://dl.doubtnut.com/l/_dLZRBehs3soK
https://dl.doubtnut.com/l/_U6UGtDeNhLKm
https://dl.doubtnut.com/l/_RuyfzUYUUhjo

157. Evaluate / dz
z?(z% + 1)

3
4

° Watch Video Solution

158. Evaluate: /d—w
V2ar — x2

° Watch Video Solution

159. Evaluate: /‘sin_1 ‘/ x dz-
a-+x

° Watch Video Solution

25/2
160. Evaluate /—daz
vV1+z”

° Watch Video Solution



https://dl.doubtnut.com/l/_RuyfzUYUUhjo
https://dl.doubtnut.com/l/_XLCg5ilviekR
https://dl.doubtnut.com/l/_RigTTg8aY5Qa
https://dl.doubtnut.com/l/_Qiz9jcBMFz5L

2

sec” x
161. Evaluate: |————dx
3+ tanzx

° Watch Video Solution

1 —tanx
162. Evaluate: [————d=x
1+ tanx

° Watch Video Solution

et —e %

163, ————
e* +e T

° Watch Video Solution

1
164. Evaluate: / dx-

3r+4—+/3x + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_FNwOuourTWAJ
https://dl.doubtnut.com/l/_Li97cAS5VkYR
https://dl.doubtnut.com/l/_aJGTb2oXCqsr
https://dl.doubtnut.com/l/_KcB2at4Vw1tu

sin 2x
165. Evaluate: / dzx-

a?sin®z + b2 cos?

° Watch Video Solution

166. Evaluate: /—dx
l1+e 2

° Watch Video Solution

167. Evaluate /ef” (1 + tanz + tan? x)dw

° Watch Video Solution

168. Evaluate:

if /g(:z:)da: = g(z), then/q(w){f(:z:) + f'(z) }dz


https://dl.doubtnut.com/l/_KcB2at4Vw1tu
https://dl.doubtnut.com/l/_Gmcnsw4Wm5Ti
https://dl.doubtnut.com/l/_av9ZylCjHQ0K
https://dl.doubtnut.com/l/_oHulccWJ9MKe
https://dl.doubtnut.com/l/_Z0qTwiQ7LHZ9

° Watch Video Solution

169. Evaluate /cos Vzdz

° Watch Video Solution

170. Evaluate: /13 sin® zdx

° Watch Video Solution

171. Evaluate: if /f(a:)da: = g(z), then/f_l(w)da:

° Watch Video Solution



https://dl.doubtnut.com/l/_Z0qTwiQ7LHZ9
https://dl.doubtnut.com/l/_aTyDYjoLjZaA
https://dl.doubtnut.com/l/_MdRY2UTrivpJ
https://dl.doubtnut.com/l/_VwTzVFIz0TCc

rsin 'z
172. Evaluate /—d:c

V1 — xz?

° Watch Video Solution

173. Evaluate: ﬁ:an_ lﬁdaz

° Watch Video Solution

174. /Sin3 rdr =

° Watch Video Solution

175. Evaluate: /sin3 x cos? zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_yNkeC5uagR67
https://dl.doubtnut.com/l/_DG8wk7iEovLU
https://dl.doubtnut.com/l/_FyskAkiffAZr
https://dl.doubtnut.com/l/_H2XYfVrfPdrl

176. Evaluate /am“’b"wdw

° Watch Video Solution

tanx

177. Evaluate the following integrals :
secx + tanx

° Watch Video Solution

178.

, 1 zt
if =dz = f(z) + ¢, then dz

T+ x r+x>

Evaluate

° Watch Video Solution

170. |f/(x3 +8)@ -1 dz

2 —2x + 4


https://dl.doubtnut.com/l/_H2XYfVrfPdrl
https://dl.doubtnut.com/l/_bRlW0XICDnhg
https://dl.doubtnut.com/l/_GmsJa8yN8gZz
https://dl.doubtnut.com/l/_mE5e9ASLNpWR
https://dl.doubtnut.com/l/_pWX2pjVEBVxL

° Watch Video Solution

3 3

T + cos’ x
2

sin

180. Integrate the functions

sin“ x cos? ¢

° Watch Video Solution

-1 s
181. Evaluate: [tan™ “(secx + tanz)dz, — 5

° Watch Video Solution

2
1

182. Evaluate: /w——i_zdw
(z +1)

° Watch Video Solution



https://dl.doubtnut.com/l/_pWX2pjVEBVxL
https://dl.doubtnut.com/l/_g0nChqn9vRzc
https://dl.doubtnut.com/l/_C1D321yZ2xrv
https://dl.doubtnut.com/l/_189LAx3gYQBc

183. Evaluate

|
o=

(4 + 7)

(4 + 7)

N |on
o |w

(4z +7)

(4 +7)

—= o =W

N = w| N =

o |w

“(de +7)F — =(dz +7)

w

N | =

(4= +7)

Do —

(4z + 7)% —

_|_

I

+c
+c
+c

Cc

8x + 13

Vaxr + 7

)dm

(B)
(Q)

° Watch Video Solution

secx

v/ cos 2

184. dr =

° Watch Video Solution

185. Evaluate: /sin3 x cos’ zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_DKOEmTqyAVR6
https://dl.doubtnut.com/l/_mtWCfqQk6AZf
https://dl.doubtnut.com/l/_p7J5YBg1kf6t

zdzx

186. EvaIuate:/
(14 22) + /(1 + z2)°

° Watch Video Solution

187. Evaluate: / 2z +1 dzx
zt + 223 + 22 -1

° Watch Video Solution

1
188. Evaluate: /—d:c
2 —zx +1

° Watch Video Solution

1
189. Evaluate: / dz
22 4+ — 1

[


https://dl.doubtnut.com/l/_p7J5YBg1kf6t
https://dl.doubtnut.com/l/_tgbuFaY4soXB
https://dl.doubtnut.com/l/_dsNi2gWU4s2r
https://dl.doubtnut.com/l/_7MXF96yIXvlp
https://dl.doubtnut.com/l/_pj6pzWweWrr7

l @ Watch Video Solution

Ccos T
190. Evaluate: / dx

sin(x — %)Sin(w + %)

° Watch Video Solution

1
191. Evaluate:/ - dz
1+ sinxz + cosx

° Watch Video Solution

192. Evaluat / 2z — 1 d
. Evaluate: xXr
(z — 1)(z + 2)(z — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_pj6pzWweWrr7
https://dl.doubtnut.com/l/_ILwrLO3Km7xX
https://dl.doubtnut.com/l/_hOlwwllIoknZ
https://dl.doubtnut.com/l/_nOiMpOnbs6U0

1—=x

193. Evaluate: /can_ 1

1+« v

° Watch Video Solution

1

194. Evaluate: / - - dx
sinx — sin2x

° Watch Video Solution

2z

195. Evaluate /

(22 + 1)(z2 + 2) dz

° Watch Video Solution

- r—1)(z—2)(z -3
196. Evaluate: /Ex " 4)(z —5)(z -6

)
)d

° Watch Video Solution



https://dl.doubtnut.com/l/_eYVxJBBuVQFB
https://dl.doubtnut.com/l/_ftMzo2CG7WmM
https://dl.doubtnut.com/l/_SUpAxXBGhtLv
https://dl.doubtnut.com/l/_wNlt0RkavYap

1—coszx
197. Evaluate: / dz
cos (1 + cos x)

° Watch Video Solution

198. Evaluate /(1 — COoS w)cosecdew

° Watch Video Solution

199. Evaluate /(seca; + tan m)zdw

° Watch Video Solution

sec
200. Evaluate ac dez.
secr + tanx

| aln',l 1. ws 1 o~ 1 x°*


https://dl.doubtnut.com/l/_wNlt0RkavYap
https://dl.doubtnut.com/l/_NBM8WS85D4wT
https://dl.doubtnut.com/l/_dE002ja71Ipe
https://dl.doubtnut.com/l/_liL8AYU6KF4E
https://dl.doubtnut.com/l/_8cxT3zLXbTjT

I ™ Vvvaldn vidco >50I1ution

1 — cos2
201. Evaluate [tan ' 7 de,o < x < m/2.
1+ cos2zx

° Watch Video Solution

1
202. /—,dm
1+ sinx

° Watch Video Solution

1 —cosx
203. Evaluate /—dw
1+ cosx

° Watch Video Solution

204. Evaluate /‘sec2 zcosec’zdz.


https://dl.doubtnut.com/l/_8cxT3zLXbTjT
https://dl.doubtnut.com/l/_bgwr5eBca6JJ
https://dl.doubtnut.com/l/_on0ODKvThalA
https://dl.doubtnut.com/l/_YdatfV1Z6fE7
https://dl.doubtnut.com/l/_MQJdl8M3xOUp

° Watch Video Solution

z+1 5m—1
205. Evaluate /2 G dzx.

° Watch Video Solution

1+ )
206. Evaluate: [——dzx-
T

° Watch Video Solution

214
207. Evaluate: /L T
% + 16

° Watch Video Solution



https://dl.doubtnut.com/l/_MQJdl8M3xOUp
https://dl.doubtnut.com/l/_sBqiiHEIMolz
https://dl.doubtnut.com/l/_knEfV8c3oZ58
https://dl.doubtnut.com/l/_28Sv2oq5oE21

e2w . 261:
208. Evaluate [———dx
e?r + 1

° Watch Video Solution

2009. Evaluate: / dz >
9+ 16sin“ x

° Watch Video Solution

210. i d/ dz
. FIN _—
VT +x

° Watch Video Solution

cot x
dzx

211. Evaluate: /
sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_ADOhMJ0gFtQy
https://dl.doubtnut.com/l/_psiv0cB8djmb
https://dl.doubtnut.com/l/_dD0eVMKrEned
https://dl.doubtnut.com/l/_3FfyQWeGAFLH

zdzx
212. Evaluate /\/_
1+=x

° Watch Video Solution

1.,..3

r2tan 1z
213. Evaluate / dz
1+ 26

° Watch Video Solution

214. Evaluate: /sin3 x cos’ zdx

° Watch Video Solution

dx

215. Evaluate:/
i —1

e


https://dl.doubtnut.com/l/_3FfyQWeGAFLH
https://dl.doubtnut.com/l/_ZI86Olr7LD9b
https://dl.doubtnut.com/l/_5qkFMicABsrx
https://dl.doubtnut.com/l/_cW9w7Mcjuzhk
https://dl.doubtnut.com/l/_6ALz1d9qhdAi

| ¥ Watch Video solution |

216. If the product of n positive numbers is n". Then their sum

is

° Watch Video Solution

217. Evaluate: / . dz
sinz(3 + cos? )

° Watch Video Solution

2
1
218. Evaluate: /de
z(x? — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_6ALz1d9qhdAi
https://dl.doubtnut.com/l/_Nh2bBBfLJLYf
https://dl.doubtnut.com/l/_Sc3uAnZTbxOA
https://dl.doubtnut.com/l/_AUXToxrbzj2F

sinx

dzx

219. Evaluate:/,
sin4x

o Watch Video Solution

0g,, € - log. e -log., e

220. Evaluate: /I
T

° Watch Video Solution

221. Evaluate /3310” (x4 + 1) _1dac

° Watch Video Solution

222. Evaluate / dz
$2/3(1+CC2/3)

° Watch Video Solution



https://dl.doubtnut.com/l/_v6fdjBL7Xz0I
https://dl.doubtnut.com/l/_mVBHkne8C5oS
https://dl.doubtnut.com/l/_MLcw58C1M0zL
https://dl.doubtnut.com/l/_nKIsEU8cHoGd



https://dl.doubtnut.com/l/_nKIsEU8cHoGd

